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Use a calculator or written
method.
A full box has 180 pins
inside.
How many full boxes can be
made from 100,000 pins?
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There is space in the multi-
storey car park for 17 rows
of 30 cars on each of the
4 floors.
How many cars can park
in the car park?
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Gwen has a box of 250 staples
to make kites with.
She uses 16 staples to make 
each kite.

How many complete kites can
she make?
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There are 35 rows of chairs.
There are 28 chairs in each
row.
How many chairs are there
altogether?
How many rows of chairs are
needed to seat 420 people?
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A school has 486 pupils
and 15 classes.

What is the average class
size?
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12,500 people visited the 
museum this year.
This is 2568 more than
last year.
How many people visited
the museum last year?
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